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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO
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INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING
PAGES OR 1TEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D AS THE CASE MAY BE IN THE
APPROPRIATE PLACE IN THE ANSWER SHEET,
3. You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.
DO NOT write anything else on the Test Booklet.

4, This Test Booklet contains 80 items {(questions). Each item is printed both in Hindi and English,
except for Questiens relating to English Language Comprehension which are in English only. Each item
comprises four responses (answers). You will select the response which you want to mark on the
Answer Sheet. In case, you feel that there is more than one correct response, mark the response which
you consider the best. In any case, choose ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions in
the Answer Sheet.

6. All items carry equal marks.

7. Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet, you
" have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate. _ _

8.  After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet, You are permitted to take
away with yeu the Test Booklet.

9.  Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE CANDIDATE EXCEPT FOR

QUESTIONS FROM 73 TO 80, WHICH DO NOT CARRY ANY PENALTY FOR WRONG ANSWER.

(i) - There are four alternatives for the answer to every question. For each question which has a
penalty for which a wrong answer has been given by the candidate, one-third of.the marks
assigned to that question will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that question,
if it has a penalty

(iti) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for
that question,

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO
egr7 & : FgeRll B B IR 9 IRael & e 7o W Bwow o
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Directions

for the following 8 (eight) |
items : :

enterprise can flourish and citizens can,

Read each of the following two passages
and enswer the items that follow. Your '
answers to these ltems should be based on
the passages only. .
Passage-1 |
For achieving inclusive gmwt;h-;

there is a critical need to rethink the role[
of the State. The carly debate amonyg |
economists about the size of the.
Government can be misleading. The need :
of the hour 13 to have an enabling |
Government. India is too large and 5:
complex a nation for the State to be abl,t:{
to deliver all that is needed. Asking the

Government to produce all the es-ential

goods, create all the necessary jobs, and | I,

. . |
keep a curb on the prices of all goods is to

tead to a large cumbersome bureaucracy
and widespread corruption. i
1

The aim must be to stay with the |
objective of inclusive growth that was laid |
down by the founding fathers of the
nation and also to take a more modern !

view of what the State can realistically

deliver. !

This is what leads to the ideu of an
enablirg State, that is, a Government that "
does not try to directly deliver to the
citizens  everything that they need. '
Insteao, it {1) creates an enabling ethos ;

for the market so0 that individual

for the most part, provide for the needs
of onc another, and (2: steps in to help
those who do not manage to do well for
themselves, for there wiil always be
individuals, no matter what the system,
who need support and help. Heace we
need a Government that, when it comes
to the

incentive-compatible rules and remains on

market, sets aeffective,
the sidelines with minimal interference,
and, at the same time, plays an important
role in directly heiping the pour by
ensuring that they ret basic education
and health services and receive adequate

nutrition and food.

According to the passage :

1. The objective of inclusive growth
was laid down by the fourding
fathers of the nution.

2. Need of the hour is to huve an
enabling Government.

v

The Government should engage in

maximum interference 1o market

Processes,

4. There i3 a need to change the size of
the Government.

Which of the statements given above are

correct 7

{a) 1 and 2 only

‘b} 2 and 3 only

(c; 1 and 4 only

{(d) 1,2 3and 4

P-PFC-L-CGJB (2 - A)

www.jkchrome.com www.jkchrome.com

2 www.jkchrome.com




3 WWW. chhrome com

L

3 www.jkchrome.com

ﬁwﬁﬁaas(m)méi%vﬁé‘w
FrefeRaa 2 aaren & & ged® @) uige SR
395 JgRid fdv me yeEien & % dfow |
37 Jeiel & HP Fo] Fad orEiel i el
smenRa g aiee |
-1
FaReh dgtg @ wia ¥ foe s @
e ) AfdaR B TR SaTEdr €
| WoR b @R $ fvg § s &
& g8 oo T8 yme & wod § |
T B NETEEA & 5 UE AnaERI
IR T | 50wl mavasans @ g
R T, I8 9Rd g & e 3R e
E B 2ES gY A AE & | TSR T
siftrad axgalt & Jees #R, W avTE

StaRal & ge e, sk wi awget B

Tt w® Criae @, WY nen faene
A Sl ik e yEER @ 3R
A Fe |

767 I8 B DIRT 6 I B I
X for gudEl dats o7 3839 T@T o, '
P AT & @ R qI & S gfd v
waed e wygfie e sl fo
U B 031 ST G o R A L o

IR me amdeR I B R @
IR T I g, s, v R WeR S
RS B FD! NTLIBAl B B A D
TeaT: Qi PR W YA T8 SRl | aiew,
(1) 98 9FR & 60 vh AdeRl e
B I B & difd Afted I Bel-Fo

P-PFC-L-CGJB (3 -A)

www.jkchrome.com

www.jkchrome.com

TR B FEeTSan B fe wEaE @)
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According to the passage, the strategy '4.

of inclusive growth can be effected by‘
focussing on
‘a)  Mecting all the needs of every
citizen in the country.
(b) Increasing the regulations over the
manufacturing sector,
(e) Controlling the distribution of
manufactured goods.
{d. Delivery of the basic services to the
deprived sections of the socicty.
3. What constitutes an enabling ;
Government ?
1. A large bureaucracy.
2.  Implementation of welfare
programmes through
representatives,
3. Creating an ethos that helps !
individual enterprise,
4. Providing resources to those who
are underprivileged.
5. Offering direct help to the pour
regarding basic services.
Select the correct answer from the codes
given below : l
(a) 1.2 and 3 only
b} 4 and 5 only d
(c} 3, 4 and 5 only |
(d) 1,2 3, 4and5
P-PFC-L-CGJB {4 -

A
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Why is the State unable to deliver “ajl
that 1s necded” ?

1. It does not have sufficient bureaucracy.
2. It does not promote inclusive growth.

Select the correct answer from the codes
given below

(a) 1 only

(b; 2 only

(e) Both 1 and 2

(d) Neither 1 nor 2

What is the essential message being

conveyed by the author of the passage ?

‘a) The objectives of inclusive growth
laid down by the founding (athers of
the nation should be remembered.,

tb) "The Government needs *o make

available more schools and health
services.

‘ci The Government needs to establish

markets and industries to meet the
needs of the poor =truta of the society.

There is a need to rethink the role of
the State in achieving inclusive
growth.

‘d}

Passage-2

The concept of ‘creative society’ refers
to a phase of development uf a society in
which a large oumber of potential
contradiclions become articulate and
active. This is most evident when
oppressed social groups get politically
mobilised and demand their righis. The
upsurge of the peasants and tribals, the
movements for regional autonomy and
self-determination, the environmental
movements, and the women’s movements
in the developing countriex are signs of
emergence of creative  society  in

contemporary times. The forms of social

movements and their intensity may vary

from country to country and place to place
within a country. But the very presence of

www.jkchrome.com
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movernents for social transformation in
various spheres of a society indicates the
emerzerce of a  creative society in a
country, |

www.jkchrome.com

8.

6. What does the author imply by “rreative -
society” ? :
1. A society where diverse art I"ormsi

and literary writings scoX ‘recutive,
2. A soctety where social inequalities
are accepted as the norm. |
3. A suviety where a large number uof
contradictions are recognised. '
4. A society where the exploited and |
the oppressed ogroups grow conscious
9l their human  rights  and
upltfiment.
. i
Seleat the correct answer u-ing the codes
given oelow :
‘a- 1. 2and 3 !
b 4 unly
. 3 aud 4 I59.
d 2 und 4

7. What according to the passage are the

mantfestations of social movemoeri-
1. Aggressiveness and being incendiary. i
2. Ipstipation by external forcos. :
- - . * ’ . ‘
3. Quest for sociai equality and individual
frecdom
4. Urge for granting  privilege:  und
self respect tu disparaged sections of §
e a’i)(“i('ty. k
Seleet the correct answer u-ing the codes |
given below - '
far 1 and 3 only ;
b, 2 and 4 unly i
I
‘e 3 and 1 only
d 1 205 and 4
|
P PFC L-CGUB "6 A
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With reference to the passage, consider
the following statements -

1. To »e a creauve socicly it s
essential to have a variety of social

maverments.

2. To be a

imperative  tu

creative society, it is

have putential

contradictions and cunflicts.

Which of the

i='are correct 7

statements given above

tar 1 only

‘bt 2 only
¢.  Buth 1 and 2

‘d) Neither 1 nor 2

Consider the following three statements :

I Onrly students can participate in the
race.

2, Some participants in the race are
girls.

3. All gir! participants in the race are

invited for cvachinge.

Which one of the following conclusions

can be drawn  frum  the above

statements 7

(ay All participani= in the race are
invited for coacking

b} All  students are  invited for
coaching,

tc: Al participunt- n the race are
students.

{d; None of the statement~ ‘a), (b: and

‘e; given abuve s correct,

www.jkchrome.com
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Directions for the following 2 (two) items: 12. Consider the four age pyramids given

. . ) below namel A, B ¢ and D
kach of the following two items c.'onsmts! . Y o .
; representing four different countries.

of feur statements. Of these four'
staternents, two cannot both be true, but |
both can be false. Study the stofements T A
carefully and identify the two that! g&n A
salisfy the above condition. Select the'! < =

. . | — _ P 5 R T, I
correct answer using the codes given ! Percent in age class - >
below zarh set of statements * i

Which one of them indicates the

l declining population
10. Examine the following statements - ’ g pop 4

1. AN animals are carnivorous. : {a; A

2 Scme animals are not carnivorous. ' b B ‘
3. Animals are not carnivorous. =
4 Some animals are carnivorous. -‘ {ey C ‘
Codes ; (dy D

(a) 1 and 3 I

(b; 1 and 2 i138. The following figure has four curves

) 2and 3 namely A, B, C and D). Study the
'd: 3 and 4 figure and answer the item that follows. |

s}

F

o
-

1t. Examine the following statecmonts :
I. Al trains are run by diescl engine.

2. Some trains are run by diesel’
engine,

3. No train is rup by diese! engine.

Population (billions)

4. Some trains are not run by dicsel | Cbao s wa o Ter e i T o TR £
eng ne. Yeur
Which curve indicates the exponential
Codes : .
—_— J growth 7
a; 1 and 2 ta} A
(b 2 and 3 {by B
‘c) 1and3 * {(c) C
(d 1 and 4 | @ b
P-PFC-L-CGJB {8 - A)
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Directions for the following 2 (two) items : 14. Which of the iwo towns has a higher

The following pie charts show the number of persons with Diabetes ?
break up of disease categories recorded in (a} Town A
the patients from two towns, Town A and {tb) Town B
Town B. Pie charts plot the disease ‘¢ Same in Town A and Towp B

categories  as  percentage of the total (dy
number of patients. Based on these,
answer the two it("mi‘j that f()l}OW th() 15' What can we say abuut persOnlS wlth

No inference can be drawn

charts, more than ore disease from these
graphs ?
Distribution of discases in Town ~ A ‘a) There are likely to be persons with
/,/::ﬂ“ . more than one disease in Town A.
/U he S B (b) There are likely to be persons with
( N - Uthers | more than one disease in Town B.
A \“S' 13% I
{ N ; {c) There are likely to be persons with
\_,)-_'-’-.‘:- ! more than one disease in both
FNE = Towns A and B.
N~ .
N High BP ‘ {d) No inference can be drawn.

13 '
!16. Consider the following Velocity  Time

graph. It shows two trains starting

simultancously on paralle! tracks.

.

e
Rl

A

-
l!I!'T...k
]

4

/(-
i

i

Velocity

4
I
|
|
i
|
! -

'_JKI.I Y He

i A N
1%
6

- - Qthers Diabetes i ?u

s 20N
e 2

With reference to the above graph, which
one of the following statements is nof
correct ?

(a) Train B has an initial acceleration

!
i
[ Obesity greater than that of Train A.
\ 280 i (b} Train B is faster than Train A at all
' | times.
\\ Y L (¢} Both trains have the same velocity
\\ L | at time t,.
) \{ ! (dy Both trains travel the same distance
TN : in lime 1y units.
P-PFC-L-CGJB i 10 - A}
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14,

15.

16.

{11 - A}
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Directions for the following 6 (six) items : 117.

Reod euch of the following two possages
and answer the itemns thot follow Your
answers to these items should be based on
the passages only.

Passage-1

Kcosystems provide people with ar
variety of goods and services; food, clean'
water, clean air, flood control, soilﬁ
c¢limate

stabilization. pellination,

regulation, spiritual fulfilment and
aesthetic enjoyment, to name just a few.
Most  of these benefits cither are
irreplaceable or the technology necessary !
to replace them is prohibitively expensive. !
For example, potable fresh water can be
provided by desalinating sea-water, but

only ar great cost.

The rapidly expanding human

population has greatly modified theils-

Earth’~ ecosystems to meet their increased |
requirements of some of the goods and I
services, particularly food, fresh water,
timber, fibre and fuel. These modifications

have contributed substantially to human

well being and economic development. The
benefits have not been equally distributed.
Some people have actually been harmed |
by these changex. Moreover, short term !
increases in. some ecosystem goods and‘
services have come at the cost of thel
long term degradation of others. F‘or!
example, efforts to increase the production |
of food and fibre have decreased the
ability of some ecosystems to prmide{.
clean water, regulate flooding and support |
biodiversity.

P-PFC L-CGJB {12 -
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With reference to the passage. consider
the following statements.

Expanding human population has an
adverse effect on :
1.  Spiritual fulfilment

Aesthetic enjoyment

Potable fresh water

2
3
4,  Production of food and fibre
5

Biodiversity

Which of the statements given above are
correct ?

ay 1, 2 and 3 only
‘b; 2, 4 and 5 only
‘icy 3 and 5 only

(di 1,2, 3,1and 5

The passage mentions that "some people
have actually been harmed by these
changes”™ What does it imply ?

1.  The rapid expansion of population
has adversely aftected some people.

2. Sufficcent efforts have not been
made to increase the production of
food und fibre.

3. In the short term some people may
be harmed, but in the long term

everyone will benefit from
modifications in the FEarth's
eCcosystems.

Which of the statements given above
is/are correct ”

ial 1 only
(by 2
{e} land 3

(di None of the statements given above

www.jkchrome.com
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frefafad 6 (20) geien & foe e -
FrfoiRaa af oraion 7 & 9@ &) fer SiRk
9 JRiF Re 7 yeien & I} @t |
57 yeien & 9 IR darT dE &
senRa & @ifee |
-1
uRfeIf-a7 ol & ey R &
T U ¥ EH B € W, WD S,
ww dy, 9% A, e Rexewo,
T, Searg Afme, sTenfere aRa
e <fedwe aFe, $B AW i S s
3 | g sifereter @ a1 ar eI
& 1 T wioenfid s T g
yfeierds w7 § wEm & | JETeRone, W S
& facaueRur ax g Feaul 0 390
IR S Bl &, fooeg 98 FAlUd ara
R B EE 7
I QA Fed "NE SEEET A IR

| gaRd T, @i AR fem @, SO«
& omawgeat B o & e pd &
gRRefRe-dat B caite Sad S § |
5 3MREEE 3 AFa & BT 3R IS
Ry # wRQR aveH fear @ | 3 o A
w7 ¥ faaRka =@ ge & | 37 IRl 9 56
At B o wi g & 1 g R,
yRRRE-d3 & 56 aegsh T JaEt @
ety e, el & dfafy sEedor @
T R g & | Jareeond, @m v W 6
JOEd @ Sed P o q 9U
T D GIT A FEENE |
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HITAT |

& TG SR o1 NG THId 95l €

1. ameartes gRAY W)

2. diedud e W

3. U 3AaUT A6 W

4. @ UE W F AT ®

5. Sa-fafaed )

m@ﬁﬁaﬁraﬂqéwa‘é’r%‘?

(a) ®ac 1,23 3

(b) Fae 2,4 3R 5

(c) ¥am 3 AR5

(@ 1,2,8, 43R5

gt ¥ 3o ¢ B 3 el @ 3

o & aegds B g8 & 17 99 o A Fr

e g ?

1. SHEed & dF gig o 38 ol ®
Wiipel YIS UBT € |

2. @mué%?ﬁésmﬁq%aﬁa{
fore ot e & gE € |

3. gt & oRfefae-aai § smaRad @
Tt &, feg Qe & ol At &
TN T |

Wﬁ#aﬁqmﬁqémﬂé’r%@?

(a) Had 1

by 2

© 133

@) 39t Bl § | g Ot E
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With reference to the passage, considerllzo.
the following statements -

b It is  imperative to modify  the
Karth’s  ecosystems for the well
being of mankind. !

2. Technology can never replace all the
good:  and services  provided by
ecosystems.

Whrch of the statements given above
is/are corruct ?

{ay 1 only
‘b; 2 only
(¢ci Both I and 2 ‘
‘d;,  Neither | nor 2 '

|

21,

Passage-2

A moral act must be our own act; must

spring  from our own will. If we act

mechanically, there is no moral cuntent mn .
our act. Such action would be moral, if we |
think it proper to act like a machine and

do s=u. For. in doing so, we uvse our

discrimination. We should bear in mind
the acting ’
mechanieally and acting intentionally, It 122,

distinetion between
may be moral of a king to pardon a culprit,

But the messenger carrying out the order '
of pardon plays only a mechanical part in !

I
the king's order|

considering it to be his duty, his action

the king’s moral act. But if the messenger
were to carry out
would be a moral one, How can a man !
understand morality who does not use his
own intelbgence and power of thought, but
lets himself be swept along like a log of
wood by a current ? Sometimes a man
defies convention and acts on his own with
a view to absolute good.

www.jkchrome.com
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Which of the following statements best

describe/desceribes  the thought of the

wrter ?

. A moral act culls for using  our
discretion.

2. Mar sheuld react to a situation
immediately.

Man must do his duty.

Man  should be - able &
convention in order to be moral.

-

defy

Select the correct answer from the codes
given below :

(a} 1 only

(by Il and 3

ey 2 and 3

‘di 1 and 4

Which of the following “tatements is the

nearest definition of moral action,

according to the writer

tar It v a mechanical action based on
official orders from superiors.

ib; Il 1s an action based on our sense of
discretion.

et It is a clever action based on the
clarity of purpose.

‘dr It a8 a relgious
unaerstanding.

actron hased on

The passage contains 2 statement “ets

himseif be swept along like a fug of wood

by a current.” Among the following

statements,  which  is‘are  nearest  in

meaning to this 7

1. A person does not use his own rewson.

2. He is susceptible to influence/pressure.

3. He cunnot withstand  difficultiess
challenges.

4 Heis hke a log of wood

Select the correct answer using the codes
given below :

{al 1 only

(b} 1 and 2
{¢) 2 and 3
fdy 1 and 4

www.jkchrome.com
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19. oErer ¥ e §, Frafafiga sl | R
e '

1. TEE T & eedn & fow gl $
HAIEES & |

9. Wi & off oiRkfufdd-aat s
&l WM 8 o el | |

Wﬁ%ﬁh-m{aﬁq—ﬁmﬂ‘é"rél%‘?

(a) ael 1

(b) Had 2

(© 13k 2aF

(@ AdiskITE 2

w2

Yo TE dide HEel of & FaE o
& | Reg g€ ¢@ TSN F AR B Al HAT
Faz arEaR fqafg s, a1 3961 HI D
it o A | P U e S !
gz ok R fRe & w7 @, 3R
@ @ AR B VAR $ Y a6 B o
¥ TH 98 o & &, Afiear B wen &9
TR GHaT & | WRe HH-HW GRH Dl
# gfe & =i B 3@ I wd 3 Fofg
A o TRl & |
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frafafag ¥ A s-ay/a-3 o aws &

fraRt &1 TaRRT aU BRaT /AR B P

1. e o @ ufd & e o fode @
YO YIS & |

0. ft Raifr & wa wg @ facis
yfafsar axa1 aifge |

3. T B AW Eid BT UeH BT 8
MY | .

4 AR A & o v @1 Sl B Has
= § guef @ wge |

I R e Be B wETEar § 98 SR g

(a) &A1

by 13R3

() 23R 3

(@ 1314

Es B ER, Fefiea § d SF-

wuF R e o Fiocan ok @ ?

(a) U8 dRl & NfiERe meEl W
amenRa uitis o ¢ |

b) o€ I fade-dier W aneRa o & |

() UE I & G R FHURA TR

Fd |
@ 9 g W aeia enfie $e ¢ |

T A e e B B AR F

VAR ¥ WY be B P & GHM & T

T & 17 Feafefea & ¥ sR-gyeR-A

HT, IAT/SAD Fepean 3 &/8 P

1. =fh O abgfe B WA Tel R |

o, ag yWia/eTd & g sfd-uwe @ |

3. a8 SioTdi/eRlal B A A8 oY
Tepal |

4., TE DY P PR B IH R |

Iy e v e & TEREr § T IR g

(a) ®ad 1

M 13k 2

(c) 233

(@ 13K 4
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23. Consider the following distance time 25.
graph. The graph shows three athletes A,
B and C running side by sidc for a 30 km
race.

Study the following figure :

A person goes from A to R always moving
to the right or downwards along the ‘Jnes.
How many different routes cun he adopt 7

C 'B A

>

Time in min - -

Select the correet answer from the codes

| given below :
HE T e T e e = e (a) 4
00 5 10 15 20 25 30 85 40 45 b &
Distance in km - > ; '
. ‘ {c; 6
With reference to the ahove graph.I )
consider the following siatements ' (de 7

1 The race was won by A

2 B was ahead of A up to 25 km 126,
mark

Consider the following figure and answer
the item that follows :

3. € ran  very slowly from the
beginning.

Which of the statements given above
is'are correct ?

(a. 1 only

‘tb: 1 and 2 only
{ci 2 and 3 only
'dr 1,2 and 3

24. (Consider the following figures -

] A

s ]

K0 924 120 BBJ What is the total number of triangles in
- It - the above grid ?

What iz the missing number ?

fa: 27
ta: 7
b & by 26
ic. 9 fc: 23
idy 10 (dy 22
P-PFC .L-CGJB {16 - A
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23. FrffEd o -wm@ s W faEx|2s. R @ w gl w iR it
HFE | a8 T A, B W C O ¥ args! U @ A B G g 1@ & WA
a%rasr‘im%‘shmmsokma%a’\gam_ afet R o srerar o &1 feem # w5 go

wWE I . m%la@%ﬁﬁmmﬂqﬁm-
: C ;B Hqhar & ?
‘ 351 : A
301 :A
125- X
A \
AT 20F .
Ew- B E
Elo-' C ': ] .
st N v W oge & wEgA ¥ T IR
ol 5 10 15 20 25 30 35 40 45 e -
Wkm § — (a) 4
(b) &5
I erE & e ¥, ﬁmﬁff‘@am @ 6
] R St @ 7

1. dsd s ADI A | a
' . Fetafea amplka ﬁaﬁﬁﬁﬂuaﬁzm
2, WzskmammBWA%fm~% ﬁﬂﬁewwgm

a1 |

3. wcgﬁ#éﬁagaeﬂia’@mwi | -
e § I BE-AEH-8 SO w2
(a), ®aA 1 | .
(b) whad 1 3K 2 o _
(¢) Fac 2 3k 3 |
@ 1, 2 3 3 | o
24. %ﬁn‘s‘m@ﬁm‘rmﬁmaﬁﬁw: ‘
2 6 3 1 7 ‘ |
80 | 24 120 | 36 IR fire o %@ﬁwwﬁmﬁ}
@ e a1 ¢ P g°?
(@) 7 (a) 27
(b) 8 . - (b) 26
() 9 (c) 23
(d 10 ' | (d) 22
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A coumtry under foreign dormnation
stehe estage from the present in dreams
of a vanched age, and finds consolation
in vioens of past greatness. That is a

Directions for the following 4 (four) items :'27. The passage mentions that “this world iy
| vidently aot meant fur them” It rofers 3
Roudd the folloae o passege and wnswer € ]n Jyh ot mes ur t tt rs b
N ! L18] W
L TR Ao fodlew . Your onswers £ . people v
Pheve cicres showld  he bBased on the L. seek frecdom from foreign dumanation.
Hismty v candy i . ] \ ]
£ ) 2. live in starvation and Misery.
Passage

3. become revolutionaries.

Which of the

i8/8T6 corropr 9
Is'are cerrect

statements given above

! tal 1 and 2
Fonlish a;}_Fi dar]lrt"mus pastime o which : b: 2 only
many af  us indulge. An equally |
_ . . . . i fcy 2 and 3
quest onable practice for us in India i to X
magne that  we are still spintually tdr 3 only

great thuougeh we have come down in the |

wortd in other respects. Spiritaal or any 28.  Consider the following assumptions .
other griutness cannot be founded o1
L . 4‘_ 11 3 v s L ST L]
fack of trecdom and opportunity, or on A mm.ug IUIld‘LT forewr dr)mn_..d..mn
: : cannot mdulge in spimtual pursaiz,
#larvation  and BIs¢TY, Many westcrnl “N n B¢ PITHual p W
wrLers have eacouraged that notion that S 1 . . . .
, 2. Poverty is an ‘mpediment  in the
indiars are other worldly, 1 suppose the - .
, - spirttaal pursuit
foor ance unforlunate in every country
: P o : ) rx Feo ap. i v “ -
Devume W dome  extend :)t.,er warldly, 3. Subject PeOP Hes may become
atless they become revolutionaries. for | other-worldly.
thrs world is evidently not meant for :
them So aleo <ubject peoples. ‘. With reference o the passage, which of
; . the above assumptions is‘are valid ”
As 4 man grows tou maturity he is
not entirely engrossed in, or satisfied ta) 1 and 2
with, the external shjective world. He: - thi 2 only
secks abo some ianer meaning, some
. g AR ter 2 and 3
peyehotomiey.  wnd physical satisfactions.
. - . - . T 1
Seoalew wirh peuples and eivilizations as d 3 only
ey mature  arnd  srow  adult Kvery
Gvilization  and  oyvery people oxhibit 29. The passage !.‘I'wmat.:cwaﬂy CENTres on

thicse sargllol wtreams of an externisl Life:
are an intorna! e Where they meet or
tr each other, there s an
and  <tability., When they -
drverst confiet arses und the orses that
Lerture the mind and spirit

:\R"r‘p PRI

eguthbrium

www.jkchrome.com

4 the state of mind of opprossed ponple
‘b starvat.on and misery
‘¢. the growth of civilization

‘d: body. mind ard spimt of people in

gencra
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R e @ e ik s s fp| E L& 1 TR 3T A @ i ok &,
o setal & g A | 57 el oy | |
IR &aeT AEIeT R & 3rEnia 81 e | 1. faeeh wym & wdFar e @

o 2. @ 3k g@ & Sie o ©
g ©IF &9 el vy & e g g, 3. HifgeR) a1 I § |

e a7 fsit Riga g % o § a9 o e |
uene g €, 3R I @Y wew a o 30w ¥ A S-S ol & 2

ST § Wi 9k & | A8 vl qearngef (a) 13K 2
IR TR foe ¢, el &7 7 9 e b) e 2

I & yEReE @ {6 &9 s < g wEd (00 23R 3
¢ & & sreators of A wer €, ke (d) a3

S |

a1 iR gg ¥ e |28, Frefoiea W W foaw S

T denfld T @ S WA | 9'F A ) feh ayw & o o 2w et
Sl g FEROT /T T8 8 WS |

& w3 P R e @, B R | | S oo SRRl 3 Feal S
, 79 a8 & 9

e & 3 o s o d| 3 A S e @ e § |
yeaer 3G fore T8 & | wide Sl B W Ted e o §, R S
T2y farfa @ € ROl dg g8 ?
SRR3R fostaa e ®15 =fe uRuag @ 13K 2
AT &, -4 a7 TR TR g H A 2
ar e EAT & 7 € 383 e A (b) AT 2
¢ | o8 35 wiaRe o W ¢e we &, © 23R 3
o8 AAe® 3R Hifae A 9§ derer
el & 1 g8 Reafa s+ 3Rk gaani &t (d) oad 3
@ @ & ISR 7 wRumw SR fow@ |
O B 1 T AT s gt e e 3 2
' S gl @ g B § | we Y| R R e ?
“ O Y o o | @ R & e
| .
S & | 7w 5 R Rl & | P N AN gE®
aad 309 & Far § 927 79 3R 3en & (c) Tl & e )
THOT & aTeN Iderael 39 & IR & |

(@ | A & e, SR S )

P-PFC-L-CGJB (19 - A)
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30. According to the passage, the torture of !31. Which region/regions  of the curve

the mind and spirit is caused ; correspond/corresponds  to  incubation
‘a’ by the impact of foreign demination. phase of the infection ?
(b} by the desire to escape from foreign (a) A only
domination and find consolation in tb) B only
visions of past greatness. (¢c) BandC
i td} No part of the curve indicates the
{¢) due to lack of equilibrium between incubation phase

an external life and an internal life.

d: due to ope’s inability to be either [32. Which region of the curve indicates that
revolutionary or other-worldly. | the  person  began  showing the
symptoms of infection ?

Directions for the following 3 (three)

] (a) A
tltems :
Read the passoge given below, study the’ by B
graph that followes and answer the three:
iterns groen below the figure. ¢}y C
During a party, a person was d) D

exposed to contaminated water. A few

days later, he developed fever and loose [33. Which region of the curve indicates that

motivnx He suffered for some days before the treatment yielded effective relief ?
going tu a doctor for treatment. On fa; C
starting the treatment, he soon became | (b} D

better and recovered completely a few | c; E
days later. The following graph shows ‘
‘y & }) (d) The curve does nov indicate the
differunt phases of the person’s disease treatment
condition as regions A, B, C. D and K of
the curve. 34. There are four routes to travel from

ity A to city B and six routes from

2 city B to city C. How many routes are
2 4\,3 possible to travel from the city A to
= ! city C ?
B
3 - ay 24
2 :
E L i (b; 12
< gL t

0 ! (ch 10

J' ‘dy 8
P-PFC-L-CGJB {20 - A
20 www.jkchrome.com www.jkchrome.com www.jkchrome.com




21 www.jkchrome.com

HROT FT & ?

(a) focel Wy &1 W

b Fel wy & gomae & g AR 9

(¢) @@ S R sfale® st & 97
SR

(@) wfp B semar [ T A a8 BifierR

BrafeRaa 3 () ge=en & foe Aider -

T IEE & AT P IR IAHiad F
e e e & gee & Fo7 afow |/

R e § o Y ¥ R @

feqt o= g@R o1 M AR <% Tw T | s
& 8 Al 90 98 gER 3R o o yadr
<@, fix 399 S|z § &ar ot | R YW
B S UTAR], WY B I ARW I IS
A T 3R 98 FB @ A 7 fFepat 3 &
T | Pt aere # 3@ afs & oo
e & ol @ROT a6 & A, B,C, D
E &4 % w9 ® ¥ MW ¥ |
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30. oG ¥ IFER, F 3R HH P GF0T & |31,

A o e & 9 & ReS-REv 32.

2 i e B e § | I |

34.

P-PFC-L-CGJB (21 - A}
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a5 TS DHE-AYSH-T & HAT S
Je¥a aROT & ui a/E 2

(a) &Had A

(b) HaT B

© B3IRC

(d) I B DF W U IgHIH TWOT B T
<t

a% ¥ fra &7 X a5 7 =R
# WHACT & A0T e € S ge ?

(a) A |

(b) B

(c) C
(d D

% & o9 9 ¥ i Qa1 2 T R |
yuIdT e W g8 P

(a) C

(b) D

(c) E

(d) agaasmaﬁqﬁm

I A TET B a® oM & fole OR =9 &
d1 IR B ¥ YR C a6 9 & U e
THAE I IR AF IR Cd6 71 & o

 foe TRy dwa £ 7

(a) 24
(h) 12
(c) 10
(d) 8
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A cvontract on construction job specifies
a penaity for delay in completion of the
woris  beyond a certain date is as
1 € 200 for the first day, T 250
for ~he sccond day, 2 300 for the thirdu:
day etc, the penalty for each
succeeding day being ¥ 50 more than
that of the preceding day. How much
penalty should the contractor pay if he
delays the work by 10 days ? '

foilows

T 4950
< 4250
¢ 3600
< 6560

fa)
‘b
{c}
(d;

Consider the figure given below and
answer the item that follows :

S

/

o777y P i'
In the figure shown above, OPl and OPz‘
are two plane mirrors kept perpendicular |
to each sther. 8 is the direction of a beam |
of light falling on the mirror OP,. The
direction of the reflected beam of light
from the mirror OP, will be :

‘a, Perpendicular to the direction S.

b} At 43" to the direction S.

‘> Opposite and parallel to the

direction S.

(d} At 60° to the direction S.

{ 22
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Consider the following figure und answer
the item that follows ;

N

What is the minimum number of different
colours required to paint the figure given
above such that no two adjacent regions
have the same colour ?

(a} 3
(b 4
(cy 5
{dy 6

Consider the following figure and answer
the item that follows :

T

|

| 1
i 48

!

S

A square is divided into four rectangles as
shown above. The lengths of the sides of
rectangles are natura/ numbers. The
areas of two rectangles are indicated ip
the figure. What is the length of euch side
of the square ?

—

N

L

(a) 10
by 11
{c) 15
(d) Cannot be determined as the given

data are insufficient

www.jkchrome.com
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35, Rt Proroed @ <R 4, ve PaiRasn 9 & snght o RaR AR SR

fafy & W o wHoE d 2 & e €8 @ ugarq e e g & IR Ao
fafider fsan mar 2, S 59 WOR @ : T | N
feq & fw 2 200, gR &9 & foe = 250, «
AR = ¥ e ¢ 300, 3@ | TR
wad! &7 & foe <5 e 7 & 2 50)
Htre & | ot o gua @9 W 10 |
Mt o € A OBeR @ fba €8 dar|
HAT WEe P -
IR A Ipla ¥ ol ol f @ Fead!
() T 4950 &l & vep St 1 A8 WAL & Al 39 el
(b) 7 4250’ - ﬁwuﬁﬁﬁv?ﬁq%{mﬁﬂﬁmm
| - M B SR P
(@ T 3600 (@) 3
b) 4
(d) T 650 (c) B
(d) 6
36. R A 7 Pl R R AT ARk FH{ss. W & uF wpl | R dfFw IR I
gz fu e e & IR A g feu e geee @ 3R A -
5
48
IR & W IpRT H, OP, 3R OP,, A el
i € F H-TR & Hged I & | OP, _ | _
ador W Ug areh o G Y S F FR fraw F9ER v af o gR e #
) % OP, afur § Wafdd ¥Rl 451 & 1021 | frres femn man @ | 3l B oy @
Far gy ? cargdl ool we? & | sgha H QY Sl
| . _ & Sea sifed & + af o RS Yo B
(a) S fa=mr & 3rgefa g a1 &
0 (a) 10
(o) Sfeam & 45° R b 1
T c 15
) S s Joda stk wmicR Ed)) & o o1 < adifs R
@ S Remd 60w M 3ide U @

P-PFC-L-CGJB ' | _ (23 - A
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There are 100 students in a particular
60% students play cricket, 30
student play football and 10 students
play both the What 18 the
number of students who play neither
cricket nor {ootball ?

class,

games.

faj; 25
‘tb: 20
{c) 18
(d: 15

A wvillage having a population of 4000
requires 150 litres of water per head
per day. It has a tank measuring
20 m x 165 m x 6 m.

tank will last for

The watar of this

‘a2 days
‘by 3 days
‘t! 4 days
‘dy 5 days

If a bus travels 160 km in 4 hours and : Directions for the following 4 (four) items :

39. A person has only ¢ 1 and ¥ 2 coins with t42,
her. If tite total number of coins that she
has is 50 and the amount of money !
with her is ¢ 75, then the number of # 1
and ¥ 2 coins are, respectively
ta; 15 and 35 '
b 35 and 15 Ll
‘ci 30 and 20 ;
di 25 and 25 .

1
E

40. Three persons start walking togethwI
and their steps measure 40 em. 42 cm 13.
and 45 cm respeetively. What s the !
minimum distance cach should walk xo:
that each can cover the same distancef
in complete steps ? l

i
‘a) 25 m 20 em |
|
ib: 50 m 40 ¢m \
ic) 75 m 60 cm |
|
d: 100 m S0 CI i
!

41.

a train travels 320 km in 5 hours at

uniform speeds, then what is the ratio

of the distances travelled by them in'

one hour ?

‘ar 8 :5

thy 58 !

‘cl 4.5 |

(dr 1:2 !
P-PFC-L-CGJB ( 24 -
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Reud the following passage and answer
the items that follow. Your onswers to
these iterns should be based on  the
passage only.

Passage
A species that exerts an influence
out of proportion to its abundance m an
ecosystem is called a keystone species.

The keystone species may influence both

www.jkchrome.com
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T ERE S UHT 1AM T2 Has € |
gfz 39 T o 50 faas € R gF-m
z 758, @ 39% UG ¥ 1 AU T 2 P Hadl
& G HHI .

(@) 153R 35%& -

® 353k 158

() 303R20%8

(d) 25 3k 25 &

&9 TRF TP WY cEe ARY axa & T
3 ®EHI & AT HHIE 40 cm, 42 cm AT
45 cm & | 90 =it bt g g
a5 T Al s wis g g3 @ Iof
TN AR A ?

(2) 25 m 20 cm

(b) 50 m 40 cm

(¢) 75 m 60 cm

(dy 100 m 80 cm

i oH-gHA Ta J Te R U 99 4 6
F 160 fodt g o Fal & quT v XA
5 6¢ A 320 ol g @ AT €, o e
GRT th H¢ H gg & W R H @
T E 2

(a) 8:5

b)) 5:8

_ tc) 4:5

(d 1:2

www.jkchrome.com
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42. ) wen 3 Faral & I 1002 | 60%
frenelf e wee €, 30% foomd gesia
Qe ¥ 10% e AE 9 @ € |
R el o e o @ S 9 fbde
e ¥ 3R A & peate Werd € ? |
(a) 25
(b) 20
(¢) 18
(d 15

43. UP Tig & s 4000 ¥ s Rw R
R6 Wiied 150 #lex Jid B aedddl
& | TP 99 US 9E @ e & e
HT 20m x15m x6 m& | G & EH
& 5T oo RSt & ww@ @ 2
(a) 2f=1 § |
(b) 3= A
© 4T H
(@ s5R=id

FrafeRag agier & giew 3k 39% 3wWia
Rw v gegier & 9% 5w | 57 g & .
I FR I OEeT W a IrERka &b
Tifew

TRATT

v i st e oRfefietds &
TN SERAT & U F §g TR THIG STerl
& R SR (SR S Ber s |
palteTen (BHRom) fe, Ffa & wyerdl B
g au TRRefES-dH § @ w3 sk
qarell & AR B I o FEa § | A
AR wEdeR Sfygw |, w TR

{256 - A}
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the species richness of communities and
the flow of energy and materials through
The

ochroceus, which lives in rocky intertidal

ecosyrtems. sea star Pisaster

ecosysiems on the Pacific coast of North |

America, is alsn an example of a keystone
species Its preferred prey is the mussel

Mytilus californianus. In the absence of

i
sea stars, these mussels erowd out other

competitors in a bread belt of the

intertidal sone. By consuming mussels,
sed star creates bare spaces that aref

taken over by a variety of other species.

A the

Washingtsn demonstrated the influence of |

study at University of
Pisaster on species richness by removing |
selected parts of the
intertidal zone repeatedly over a period of

sea stars from

¥
five years. Two major changes occurred in

the

removed. First, the lower edge of the

areas from which sea stars were
mussel bed extended farther down into
the intertidal zone, showing that sea stars
are able to eliminate mussels completely
where they are covered with water most of !
the time. Second, and more dramatically, E
28 of

disappeared from the sea star removal :

species animals and algae

zone.  Eventually only Mytilus, the
dominant competitor, occupied the entire
substratum. Through its effect on!

competitive relationships, predation byl
Pisaster largely determines which species

live in these rocky intertidal ecosystems.

{ 26

www.jkchrome.com

44.

i46.

- A

www.jkchrome.com

www.jkchrome.com

What is the crux of the passage ?

(a} Sea star has a preferred prey.

(b) A preferred prey determines the
survival of a keystone species.

(c) Keystone species ensures species
diversity.

(d) Bea star is the only keystone species
on the Pacific coast of North
America.

With reference to the passage, consider
the following statements :

1. Mussels are generally the dominant
species 1n intertidal ecosystems.

2. The survival of sea
generally determined
abundance of mussels.

s
the

stars
by

Which of the statements given above
is/are correct ?

(a) 1 only

‘b) 2 only

ic; Both 1 and 2
(d) Neither 1 nor 2

Which of the following is/are implied by
the passage ?

1. Mussels are always
competitors for sea stars,

2.  Sea stars of the Pacific coast have
reached the climax of their
evolution.

hard

3. Sea stars constitute an important
component in the energy flow in
intertidal ecosystem.

Which of the statements given above
1s/are correct ?

(a) 1 and 2
(b} 2 only
{c) 1land 3
{d) 3 only

www.jkchrome.com |
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RS H WO ETRE d¢ WG
ﬁﬁw(aﬁﬁq)aﬁm%mél
Tam waa PR A afrelTard
oig & | wgd et @ srgeReft 7, 3 Wy
SaRraa W @ faga ¥E # e 3
Rt ¥ g # s s 9 S §
f5 375 fre < i Bl | WA aR §
wigeh B UE T, §H U F G WE
39 ax 3 § Pl fafqw veR &1
St s R W o oar @

afdres favafaaea gr1 fde T 0S
seaga 1 g a§ @ st d siRsERa

s ¥ ol ¥ T R @ aRaR |

geTaR ST @ Wl W aEHeY & v
P e e & 4 fo A wd A’

zorn T e, A ¥ 2 v RadT

ufd ge | weM, g %R @ Fraer (SR
R &3 § ok A Gga & m
) o we A & fs 3 &l A e 9y
3 Ffeiel THY F-AEied & & 9el
wuR AR T YA AT A B GAAT I
# | o, T W ¥ R Ol @ e
T, 9 FAFS ATE e A FER FigH
3R Sarett @1 28 sk fage & 7% | i
w@wﬁwa‘ﬁ%mqﬁm
Rftaa 3 o & R forn | mpERY &
RHET A, Wl el W USA aTell J9Td
SRR RS-t § S 9@ Sl
& A §91 B |

44.

45.

46.

RafE ST A ®TE ?

(a) T8 AR W T T TG
Al 7 | '

) THRREn (@) S B TR
g frer & FrefRa &dr @ |

© FoREm (@rem al, SR &
fafreran @1 gfRaa o=t € |

@ o ARE ¥ wEid aTRE T RN

%mﬂwgﬁﬁﬁwtaﬁﬁm
|

i & @ ¥, Prefifed oo ) R

Hifse - .

g SR SR aRRefde!-

9, WHR ARl & FeRsifaar WHR
wigat & argeaar & FfRa @ @ |

3w 3 A BE-EER- $UF w8 P

{a) asaad

(b) dad 2

(@ 13k 2=

@ Jda 1R A& 2

frefafaa 3 3 BSF-3F TR IR e

gRT I%h g g/8d € ?

1. gt HE T ARt B FoR wRE
& GEA E

9. Welid WWRIG d¢ & HA
%% % A W T IS € |

ar e

5 R AR s SRR

35 warg % weaq dwed § |

m@aﬁ%aﬁw-w@hﬁwaﬁ%ﬁ?
(a) 13k 2
(b) HIA 2
() 13R 3
(d) &ad 3

P-PFC-L-CGJB (27 - A}

27 www.jkchrome.com

www.jkchrome.com

www.jkchrome.com




.jkchrome.com
_28 jkchrome.com www.jkchrome.com WWW.j
WWW.j .

47.

28 www.jkchrome.com

Consider the following assumptions :
. The food

ecosystem

chains/food web in an

are  influenced by

keystone species.

2. The presence of keystone species is
a specific characteristic of aquatic
ecosystems.

3. If the keystone species is completely
removed {rom an ecosystem, it will
lead to the collapse of the
ecosystemn.

With reference to the passage, which of
the above assumptions is/are valid 7

(a) 1 only

(b} 2 and 3 only
(¢) 1 and 3 only
{dy 1,2 and 3

50.

51.

48. Consider the following argument _
“In order to be a teacher one must
graduate from college. All poets are poor.
Some Mathematicians are poets. Nol
college graduate is poor.”
Which one of the following is not a
valid conclusion regarding the above
argument ?
aj Some Mathematicians are not;
teachers.
(b) Some teachers are not
Mathematicians,
(¢} Teachers are not poor.
(d; Poets are not teachers.
P-PFC.L-CGJB { 28 -
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49.

A student on her first 3 tests received
an average score of N points. If she
exceeds her previous average score by
20 points on her fourth test, then what
is the average score for the first
4 tests ?

(a) N + 20

(b) N + 10

(cy N+4

(d) N+5

In a group of Persons, 70% of the
persons are male and 30% of the
persons are married. If two-sevenths of
the males are married, what fraction of
the females is single ?

(a) 2/7

(b) 1/3

(c} 3/7

(d) 2/3

The houses of A and B face each other

on a road going north-south, A's being
on the western side. A comes out of hix
house, turns left, travels 5 km. turns
right, travels 5 km to the front of D’s
house. B dues exactly the same and
reaches the front of (s housec. In this
centext, which one

statements s correct ?

of the following

fal  C and D live on the same street.

{b, C’s house faces south.

() The houses of (' and I are less
than 20 km apart.

{d) None of the above

www.jkchrome.com
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FrfiRae WAt )RR e -

. uRReReds §  awm-sEeEE
e, Honen (BIRS) Fier & sy
g

2. Golfden (@rem) aMfa @ IuRefa
aﬁuwﬁﬁuﬁﬁaﬁaﬁwﬁﬁw
Ry & |

3. O fedl oRReR-d ¥ gofer

@) i @ e ger R S,
1 3T 9 TRRRIfad-d7 focgpa o
8 S |

W dwe & owet d, a%hi?lwajﬁs
wr=ga/mae dg 72 @

(a) $Had 1

(b) ¥aa 23R 3
(¢) Pad 13k 3
@ 1,23K 3

PR gfts ® R i

"AEATE B & [T Dielsl BT TdS BT
FEwas & | T ofa Frela & € | 3.
s ofd da € | P Dielar & Hae

e AR R 1

T gfs & e ¥ FrefRed § 9
- v, du el A8 & 7
(a) TG VTS AT T @ |

() PO HEAND T T E

(c) 3reaus faea el € |
(d) DT LIPS T & |
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s M A9 wemh. ¥ S eEn @1
Atad waie N 3ig & | ait a8 s i
weor § fUsa 3id e |20 36
HYS I BT &, A W AR S0 H
T i T # P

(a) N+ 20

(b) N+ 10

() N+4

(d) N+5

fsdl & ve wug #, 70% At goy &
¥R 30% =fs fGafea € | afc goat @
o/7 wm faafea &, o afeemdt &1 foan
T sfafa & 2

(a) 2/7

(by 1/3

(¢) 3/7

(d) 2/3

FR-ST ST UF WS W AFH-AHEA A
g BH R E ot A & W afial 3R
g1 AN IR N AR A7, A
z, 5kmaam%,a11!"'ﬁsa1'%. 3R 5 km
T RDFWNRS I TGI8 | B
NI OF R A TRMNEINMRCFRS

T e o @ | g we ¥, Fefiad

ﬁ'@taﬁh-wwmﬁ‘ﬂé’r??

(a) CHIRDUS & Feb W T & |

(b) C& W B q@ afewr B AR T |

© CHIRDPWIGTR X 20km
QU RE |

@ I A B T
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Directions for the following 5 (ﬁve)i childhood, if at wl The Right to
items : . . )
* Education (RTE; bas become law at a
Read the followiny passage and onswer L. ) _
_ ) “op g point in India’s history when the ghastly
the it that follow Your answers to
these ttermns should be bised on the possase practice.  of female iofanticide has

only. resurfaced in the form of foeticide, This

Passage ‘ is “symptomatic of a deeper tarmeil” in

Nuw India’s children have a right |

society which is compounding the

to recerve at least erght years of education, traditional obstacles to the education of

the gnawing question is whether 1t Wml girls. Tenacious prejudice against the

remain on paper or become a reality. One intellectual potential of girls runs across

nardhy needs 4 reminder that thes rizht our cultural diversity and the system of

ts different from the others enshriacd in education has not been able to address

the Crmntitution, that the beneficiary it
‘a six year old child cannot demand :t, ner !

can she or he fight & legal bautle when i

192, With reference to the pussage, consider
the rieht 1 dented or violated, In all cases, | the following staterments -

it is the aduit soctety which must zct on

behalf of the chitd. | . : T I. When children are denied education,

ehall of the child. In another peeuliarty. . i
y v adult suciety does =16t act on behalf

where a child'= right o education s of them.

deried ro compensustion offered later can

. l 2 Right to Kducation as a law capnot

be adequate or relevant. This 1s  so | . .

! be enforced in the country,

because ehldhood does not last. If a legal ¢

battle fought on behaff of a child - W.hmh of the statements given above
! 13/are correct ?
eventually won, it may be of little use to

the boy or girl because the opportunity (a) 1 only

missed al school during childhood cannot ‘b 2 only

serve the -ame purpose later in Life. Thos
(c; Both ! and 2
may be painfully true for girls because |

our socicly permiis them only a ﬁhort{ {(d) Neither 1 nor 2

P-PFC-L-CGUB 130 A
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frteiRaa aarer @ gfgr ik F@d 3ukia
T 7 geren & FR & | 57 el &
M IJR SacT ST ;W E IEART
e | -
e

3§ TEfe WRA H qwdl B gHAaH IS
aul @ Rier e A @ AR aa
& T &, 98 dodie W WA & 5 @
31T AAGESAl B WY T T | IR IS
e & T @ A ¢ & g sfteR
dfge 4 wiosita s ¥Rt 9 sem
g, s suer owel - 9% © a6y
/S 7 A THS " IR a2,
"8 39 AR ¥ dftud @9 A s
g B W B 98 68 Adar/

g | T Tl d, 9 O e § 8|
R T @& AR ¥ SdaE & e ||

T foveor o o7 @ 6 TW &0 sw
& Rram & sfter [ dfa fEar sma g,
dq s # fear wn @F 9 gaEen 7 oar
Tafd 7 & aRifie & Foar & | U gHioe
¢ 6 scueRn & 98 @ | ok e
g @ AR A @G Mg BELA @Sy 3idd
S o o S €, 98 W g8 I 9w
o g & foe et M & =& @
il qredraen ¥ fqae &1 3 3aeR @l
g® dar €, 98 Siad H @ & aut ¥

52.
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I8 §@c WU 9§ afcrent & fow dwaaa
I W € Wi s9R 99 & gRT
3¢, aft fret A €, @ ew SeaEen
& P 2 1 uRda sfem A R e
MBR A 3 g # fafr & w9 gRoy
fan &, T v wwr Ry & & =0T
Yl YOT Bl & ®I W OGT IR BN I
g | a8 T # e faew @ gae”
R I LT 2 e 15 i B

 RRET sl & S HeeR [ AR @

W ¥ | Sl @ difes ave & Tow

TP GRIVR! qarig gARI X Wil fafaer

¥ @ & aun fren wone 37 R & UM

q oot @ &

draier 3 Wt ¥, Prefofed oA ® RER

S - |

1. o9 q<di o e @ dfua <@ s g,
TR TS I AR W P oA
TE o |

2. -ou ¥ fIven @1 afteR oY & w0 A

yafda =gl fopar s Thar |

Wﬁﬁﬁqwﬁwﬁ?fé?

(a) &ad 1

(b) AT 2

(¢) 13R 22Hr

@ T@13ARTE 2
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55.

156,

33. According to the passage, what could be
the  tradittional  obstacles to  thel
education of wirls ?

[.  Inabibty of parents to fight a legal
hattie when the Right to Education
1> dernged w therr chaldren.

2. The traditiona! way of thinking
about girls’ rule in society.

3. The pretudice against the '
in: ellectual potential of girts. [

1 T proper sv-tem of education.

Select the correct answer from the codes

Aven below

ray 1 and 2 only

b 2, 4 und 4 only

¢t 1. 3 und 4 only

d ! 2 1and 4

54. On the bass of the passage, consider the
followin.s <lutements
! Right 19 Eduvation is a legal right and |

not a fundamental right.

2. For realising the goal of universal
educutior, the education system in the
country must be made identical Lo that
of developed enuntries.

Which of the statements given above

feoare porreet 7

L

«a. 1 only J

by ¥ oonly :

fcy Both | and 2 |

fd' Neither | nor 2

L

P-PFC-L CGJB { 32
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Which one of the followmg statements
conveys the key message of the

passage ?

{a) India has declared that education is
compulsory for its children.

{b} Adult society is not keen on
implermenting the Right to
Education.

(ct The Right to Education, particularly
of a girl child, needs to be
safeguarded.

(d) The system of education should
address the issuc of Right to
Education.

Which onc of the following statements
conveys the inference of the passage ?

{a) The society has a tenacious
prejudice against the intellectual
potential of girls.

(b) Adults cannot be relied upon to
fizht on behalfl of children for their
Right to Education.

fc; The legal fight to get education for
children is  often protracted and
prohibitive.

(d; There is no sufficient substitute for

education received ic childhood.

www.jkchrome.com
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54.

P-PFC-L-CGJB

33 www.jkchrome.com

A QWRURATT GTent R-Fr S P

1. WU gRi, 3w | & Fen &
Fer ¥ W@ W TH |
o818 o5 o rgmefar |

2. 9 ¥ aifcesl & yfber & fava A
wfgardy | | :

4. TRen & ajugss yomel |

AR fow e e A < A W IR g
(2) ST 1 3R 2

(b) baet 2, 3 3K 4

() Fa@ 1,33 4

(d) 1;2,33R 4

aEe & YR R, f=iaRaa wuEl W

faR $ifFw - .

1. e & sfter ffte after &, 3@
PR 8T |

2. ¥d Van & deg @ 9@ & & foe,
<91 BF Rrem gome @1 fostaa o
e yoTe B {HE ST IEYASD |

39T H A B /A T A/ B ?

(a) ®aT 1

(b) ®act 2

© 13k 2dmi

@ JTa1aRTE2
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fFrafeRad § 9 oF-w oo 59 g &
el AT B B IR & ?

(a) YRG5 Og OO X & & 6 2w &
gt & foe fren afart &

(b) o A frem ¥ AR B
Fraifad & ¥ TEED T & |

(c) Tem & sffreRr &, GPwex afermmsi
2, IREM BET NITE 8 |

(@) e yorel @ e & R & qe
& Wi 3@ B afge |

frmfiiaa 3§ ¥ ST v mom, 39 day
(a) @S afcienl o §ifes amar & ufa
U RIVET GaiUE @ U 2 |

(b) T & Frenm & IUHR & forw dud
¥ T RO A e o
J& |

(c) @ @ e faem. &g @t oER
g @ 3R Fives B & |

mﬁma’ﬁaﬁ%&ﬁﬁaﬁé'
0N wai wfereamu =6 & |

(d)
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Read the following passage and answer
the 3 (three) items that follow :

A, B. C, D and E are members of the |
same family. There are two fathers, two
sons, two wives, three males and two
females. The teacher was the wife of a
lawyer who was the son of a doctor. E is
nct a male, neither also a wife of a
professional. C is the youngest person in 60
the fumily and D is the eldest. B is a :
male.

57. How s D related to E ?
ta} Husband
61.
{b) Son
(¢} Father
‘dy Wife
. 62.
58. Who are the females in the group ? F
tal! C and E
by C and D
(cy E and A
'63.
‘d; Dand E F
59. Whose wife is the teacher ?
wa) C
(b D
(c) A i
‘dr B |
P-PFC-L-CGJR {34 - A
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Read the following passage and answer
the 3 (three) items that follow :

In a survey regarding a proposed
measure to be introduced, 2878 persons
took part of which 1652 were males. 1226
persons voted against the proposal! of
which 796 were males. 1425 persons voted

for the proposal. 196 females were
undecided.

How many females voted for the
proposal ?

{a; 430

(b) 600

(c) 624

(d) 640

How muany males were undecided ?

(a¥ 31

(b} 227

(c) 426

(d) 581

How many females were not in favour of
the proposal ?

{a) 430
(b) 496
(c}) 586
(d) 1226

In a queue, Mr. X is fourteenth from the
front and Mr. Y is seventeenth from the
end, while Mr. Z is exactly in between
Mr. X and Mr. Y, If Mr. X is ahead of
Mr. Y and there are 48 persons in the

queue, how many persons are there
between Mr. X and Mr. Z ?

(a) 6

(b) 7

icy 8

td; 9
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FrefeRea ararer @t 9fge ik 3w gean e

e 3 () g & IR dow

57.

58.

59.
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| (b)

A B,C,DUd E % & Rar & we

A RmE @ E Qo E A

gy 2 3R @1 Rt € | sreanfue oe ok

& TS R, € IO U SRR B P& |
E g9 78 ¢ 3R 7 & 98 5l e &

T 2 | tRaR A C 999 &9 39 &1 2 3R
D ¥Wai 951 & | B odh 39 ¢ |

DPHES oI GaT & ?
(a) ufg

(by T4
(c) e

() T

5 g & Redli S-a E
(a) C3RE
) C3RD
(¢) E3RA

(@ DIRE

Rt ool e & 7

(a) C

D
(c) A
B

(d)

Freffaa aare ot afe sk Jas weang R
e 3 (A7) geen & o) dfere -

60.

61.

62,

63.

(356 - A}

www.jkchrome.com

ikt va weafaa sngur @ am SR
¥ ud 39 W for w ve gdsor A 2878

Hfeat ¥ e foran 5wt 1652 o & |

122661%5&?#%35%@%%&1,
R A 796 g9 F | 1425 Rpal 3 WA
¥ uel § wa a1 196 fordt aifoifa of |

faae) Ferat 3w & vet & wa fear ?
(a) 430
(b) 600
(c) 624
(d) 640

T goy aifiia & ?
(a) 31

() 227

(c) 426
(d) 581
ot Rt waa & uar § =16 of ?
(a) 430
(b) 496

(c) 586

(d) 1226

& 9t o, S X 9 9 149 =W W)
2 3R M Y 3T ¥ 1790w w E 5ele
A Z, AHE X 3R A Y & S 7eg o
g | AW X afe fme v & am € aik o
A HeT 48 b &, A HHH X 3R = 2 %
safpm asd ?

(a) 6

M) 7

(c) 8

(d) 9
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Directions for the
items :

www.jkchrome

following 9 (nine)

The following nine items ‘Questions 64 to
72; are bosed on three passages in
English test  the comprehenzion of
Engiash language and therefore these
items do not have Hindi version. Read
vuch possoge and answer the utems that:
follow. |

|

|
He walked several miles thar day but |

453

Passage-1

coule not get anything to eat or drink,
except some dry bread and some water,{
which he got from cottagers and farmers.

As npight fell. he slept under a haystack'
lying in a meadow He felt frightened at’
first, for the wind blew awfully over theI
empty fields. He felt eold and hungry, and |
was teeling more lonely than he had ever
felt before. He, however, soon fell asleep,
being much tired with his long walk.
Wher: he got up next day, he was feeling
terribly huangry su he purchased a loaf of
bread with a few cowns that he had.

64. When the night fell, he slept
fay i the open field !
thy  under e pile of dry grass |
{c) in a tarmer's cottage
‘dy under « tree
65. He soun fell asleep becuuse
{a’ he was exhausted
‘b he was all alone
¢.  he had not slept for days
«d! he was very frightened
P PFC L-CGUB { 36
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A
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With reference to the passage consider
the following statements -

1. He
countryside.

was walking through the

2.  The cottagers and farmers guve him
enough food =0 that he could sleep
at night without feeling hungry.

Which of the statements given above
is/are correct ?

{a} 1 only

{b} 2 only

{c} Both 1 and 2
:d) Neither 1 nor 2

Passage-11

I opened the bag and packed the
boots in; und then, just as | was going to
close it, a horrible :dea occurred to me.
Had T packed my toothbrush ? [ dont
know how it is, but | vcever do know

whether I've packed my toothbrush.

My toothbrush is

haunts me

a thing that

when FPm  traveliling, and
makes my life a misery. [ dream that |
haven't packed it, and wake up in a cold
perspiration. and get ovut of bed and hunt
for it. And, in the morning, [ pack it before
[ have used it, and it 15 «jways the last
thing I turn out of the bag: and then 1
repack and forget it. and have to rush
upstairs for it at the last moment and
carry it to the railway station, wrapped up

in my pocket-handkerchief.

www.jkchrome.com
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66. With reference to the passage, consider

Arfifa 9 () gerel & P Fder

FfoRaa 9 (#),mfw (go7er 64 G 72)
3t & T Saren w smaRa & 3k sast
woT & g & weor & fow # 1 3 5

woren @1 et gz 78 Rar s rer & /|

Seid @aier gigr aen fAefeiied geaien &
IR e |

Passage-1

He walked several miles that day but

could not get anything to eat or drink|

except some dry bread and some water,
which he got from cottagers and farmers.
As night fell, he slept under a haystack
iying in a meadow. He felt frightened at
first, for the wind blew awfully over the
empty fields. He felt cold and hungry, and
was feeling more lonely than he had ever
felt before. He, however, soon fell asleep,
being much tired with his long walk.
When he got up next day, he was feeling
terribly hungry so he purchased a loaf of
bread with a few coins that he had.

the following statements :

1. He was walking through the

countryside.

2. The cottagers and farmers gave him
enough food so that he could sleep
at night without feeling hungry.

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

Passage-11

I opened the bag and packed the
boots in; and then, just as I was going to
close it, a horrible idea occurred to me.
Had I packed my toothbrush ? I don’t
know how it is, but I never do know

whether I've packed my toothbrush.

- My toothbrush .is a thing that

haunts me when I'm travelling, and

64. When the night fell, he slept _
i makes my life a misery. I dream that I
(a) in the open field _ _
_ haven’t packed it, and wake up in a cold
(b) under a pile of dry grass perspiration, and get out of bed and hunt
{c) in a farmer’s cottage for it. And, in the morning, I pack it before
(d) under a tree I have used it, and it is always the last
| thing I turn out of the bag; and then I
65. He soon fell asleep because repack and forget it, and have to rush
(a) be was exhausted upstairs for it at the last moment and
(b) he was all alone carry it to the railway station, wrapped up
(¢} he had not slept for days in my pocket-handkerchief.
(d) he was very frightened
P-PFC-L-CGJB
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67. When he was going to close the bag, the [70.
tdea that occurred to him was
12+ unpleasant
b sad
¢ fantastic
‘dl  amusing
68. What makes his life muserable whenever ;
he undertakes travelling 7
‘a)  Going to railway station 71.
ibr  Forgetting the toothbrush
'¢* Packing his bag
.d; Bad dreams
L |
69. His toothbrush is finally
‘al i his bag
in his bed
i¢c: n his handkerchief 72,
rdy lost
Passage-I11
[n spring, polar bear mothers emerge from |
dens with three month old eubs. The
mother bear has fasted for as long as eight
months but that does not stop the young i
from demanding  full access to her .
remaining reserves. I[f there are triplets,
the most persistent stands to gain an
extra meai and it may have the meal at
the expense of others, The smallest of the
btter forfeits many meals to stronger
xiblings Females are protective of their
cubs but tend to ignore family rivalry over
food. In 21 years of photographing polar
bears. I've only once seen the smallest of
triplets survive till autumn.
P PFC-L-CGJB (38 - A

38 www.jkchrome.com

www.jkchrome.com

- 38 www.jkchrome. com www.jkchrome.com www.jkchrome.com

Female polar bears give birth during

7

‘a) spring
b summer
fe}  autumn
id)  winter

Mother bear

{a} takes sides over cubs

(b) lets the cubs fend for themselves

{c) feeds only their favourites

(d) sees that all cubs get an equal share
With reference to the passage. the

following assumptions huve been made °

1. Polar bears fast as long as eight
months due to non availability of
prey.

2. Polar
triplets.

bears always give hirth to

Which of the assumptions given above
is/are valid ?

{a) 1 only

D) 2 only

{c) Both 1 and 2
{d) Ncither 1 nor 2

www.jkchrome.com
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67. When he was going to close the bag, the
idea that occurred to him was
(a) wunpleasant
(b) sad
{¢) fantastic
(d) amusing

68. What makes his life miserable whenever
he undertakes travelling ? 71.
(a) Going to railway station
(b) Forgetting the toothbrush
(¢) Packing his bag
(d) Bad dreams

69. His toothbrush is finally
(a) in his bag
(b) in his bed

72.
(¢) in his handkerchief
{d) lost
Passage-IIX

In spring, polar bear mothers emerge from
dens with . three month old cubs. The
mother bear has fasted for as long as eight
months but that does not stop the young
from demanding full access to her
remaining reserves. If there are triplets,
the most persistent stands to gain an
extra meal and it may have the meal at
the expense of others. The smallest of the
litter forfeits many meals to stronger
siblings. Females are protective of their
cubs but tend to ignore family rivalry over
food. In 21 years of photographing polar
bears, I've only once seen-the smallest of
“triplets survive till autumn,

P-PFC-L-CGJB (3% - A)
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70. . Female polar bears give birth during
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(a)

spring

(a)
(b) summer
(¢) autumn

winter

(d)

Mother bear

takes sides over cubs
(b) lets the cubs fendl for themselves
(¢) feeds only their favourites |

(d)

sees that all cubs get an equal share

the
following assumptions have been made :

With reference to the passage,

1. Polar bears fést as long as eight
months due to non-availability of

prey.

2. Polar Dbears

triplets.

always give birth to

Which of the assumptions given above

isfare valid ?

(a) 1 only

(b)
(¢) Both 1 and 2

2 only

(d) Neither 1 nor 2
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for the

items : !

73.
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Given beluow are eight items Kach iteni
1
deseribes a situation and is followed by}

Gur vssihle  responses.  Indicate  the |
p P

responss  you  findl most apprupriate.

Chnose vndy one response for each item. s
|
» . !
Th: resporses will be evaluated bosed on
the ‘il o eppropriateness for the giwn;

sitwalion.

Please attempl all the items. There is !
no penally for wrong answers for.

these vight items. |

Yau

explanatign

have asked to

not

been give an

Tor attending

official

an

portant. mevctingg, Your

mmmediate boss who has not informed |
you about the meeting is wow putting’
you not fo

ullerat.on against. him/her. You would

pressure  on place an

‘a send o written reply explaining the
faet,

‘h. seck un appointment with the t.op;
|

buss tu explain the situation.

¢ admot your fault to  save the

situation.

d- put the the

!
coordinator of the meeting for not-

responsibiiity  on

informing.

www.jkchrome.com

( 40 -

following 8 (eight) |74.

75.

76,

www.jkchrome.com

A local thug (bad element; has started
illegal construction on your vacant plot.
He has refused your request to vacate and
threatened you of dire consequences in
case you do not sell the property at a
cheap price to him. You would

ta; sell the property at a cheap price to
him.

(b; go to the police fur necessary action.

‘c) ask for help from your neighbours.

‘d)  negotiate with the

hizher price.

goon to get a

You have to accompiish a very important
task for your Headquarters within the
next two days. Suddenly you meet with
an accident. Your office insists that you
complete the task. You would

{a) ask for an extension of deadline.

{by inform  Headquarters of  your
inability to finish an time

{c: supgest aiternate perscn to
Headquarters who may do the
needful.

{d; stay away 'ili you recover.

You are an officer tnocharge for providing
basic medica! facilities L0 the survivors of
an earthquake affected area. Despite your
best possible effort, people put allegations
against you for making money out of the
funds given for relief. You would

ta; let an enquiry be set up to look into
the matter.

(b! ask your semior to appoint some
other person in your place.

¢} not pay attention to allegations.

d;  stop undertaking any initiative til)
the matter is resolved.

www.jkchrome.com
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Frafofae 8 (375) seiel & fawe Pider -

73.

P-PFC-L-CGJB

41 www.jkchrome.com

Fia are go=er B we & | gee geer 7|

vw Rafa &1 avle &, 5/9d vearg 396 ar”
vyg sk faw e & 1 o IR @ 3
walfers Juges A &, 39 37 39T FIR &
w7 & sifea Fifav | sdw g & fow
FacT 0@ & JaX gle | IR BT goediod,
& 7 Reif & fore Jugeear & R & 3MER
gv fasar SmeT |

puar W gl & FIR Ao 1§ e
yorel & fore woa IR & foe @i @s
T & !

ve TRy teiRe do W IufRd |
8N & BRUT MUY ITBT TIGIOT |/l
g | ey e AftmR e
TP 3T o DI FHOR 8 A A 3T
AT R IE <& o w@RE € 5 s

TEHT AW 39 W 6 5 | U ° e
BT ?

(a) T B TR FEA T F fikaa

3R e

(b) 3 i aftrerdy @ Rerfd ¥ v
< & fore 369 9T @ gAY o |

. fefa & dwem & foe s dw
PR B |

d) 6 & IEIS W E'Wa'lﬁl'cﬂ'
T & 5 7 Yo & FEER @
Q|
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75.

76.

v WM 3 A S @il I8l FHHE W
ﬁa%ﬁwmﬁmélgaﬂq

(a) maﬁqmmmwaﬂm

(b) avas HRAE & e g & o

e |
(¢) 3= uSieal & Hag AfA |
@ 39 R ¥ 3R e dHa o & fae
I Sradd W |
el & feAt # s
e T Hewayet &1 1 X € | e &
Y GUCARRG & 31 € | 3P SR AT
W I8 FR &1 &7 & fob 319 &1 & @1 K |
o A 3T T B P
(a) mgmﬁﬁaﬁn%ﬁxmmaﬁ
At | |
(by 3N TEOEAE B ghoa W 3
I ¥ S O &= U § 3R E |

¥ foe s

(c) T YT B TP Iopicud ARD B

A G 3 BRI G R Gl ¢ |
(d) OB B AD e & e | ,
&N v 4yby gwidd &3 ¥ ybu & SR
a'ﬁﬁﬁaaggfhaﬁ %%@Hq g
e 1 & o THRT 3Tty
feor wan @ | 3Ue &) IWT IR &
SaSE, | 39S FIR T HRW @ K & 6
IMIEA S T A TR I IT_aRE |
Y N 39 FT B P
(@) 39 TRV & 39 9= # Sia-ugad

YRH B I |
(b) 39 aRws IR A PR s s 9

e W R B R afE @

Frgep e < |
(¢) 3 FRW W SIS g+ 8 <1 |
(d) 9 AP T goe @ oA I A

maﬁéwqﬁaﬁﬁl
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77.

78.

You have been made responsible to hire ’79.

boats at g short notice to be used for
an ares under flood. On seeing t.hc‘
price mentioned by the boat owners you
found that the iowest price was
approximately three times more t.han‘
the approved rate of the Government. |
You would !

i
‘a’ reect the proposal and cail for a

|

fresh price
ib- accept the lowest price.

iy refer the matter to the Government i
and wart,

{d: threaten the boat owners about a -

possible cancellation of the licence. |
You are the officer-in-charze of a viH:-agp!
administering distmbution of vaccine in '
an isolated epidemic hit village. and'
you are left with only one vaccine .
There i+ a requirement of that vaccine |

from the CGram Pradhan and alss 4 80.

poor villager Youu are being pressurlsed!
by the Gram Pradban to issue the
vaccine to hom. You would

fay ipitiate the procedure to expedite
the next supply without issuing the |

vaccine to either. I

. . . . 1
‘b: arrange vaccine for the poor villuger '

from the distributor of another zrea.

(¢! ask both tn approach a doctor and’
get ap input about the urgency. '

. . |
'dy  arrange  vacceine  for  the  Cram

|
Prachan from the distributor of
another area

P PFC-L-CGJB ( 42

42 www.jkchrome.com

www.jkchrome.com

‘b, counsel the lady to adjust, given
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You have taken up a project to create
night shelters  for  omucless  people
during the winter scason. Within  a
week of establishing <ae shelters, you
have received complaints  from  the
residents of the area abont the increase
in theft cases with a demand to remove
the shelters. You would

(al ask them to lodge a written

complaint in the police station.

ib) assure residents of an enquiry into

the matter,

fe: ask  rewxidents tu consider  the

humunitarian effort made.

«d  continue with the project and ignore

their complaint,

You, as an  administrative authorty,
have ben approached, by the
dauzhter-irilaw of an nfluential per-sn
regarding “arassment by her in-laws on
account  of insufficient dowry. Her
parcnts are not able to approach you

because of social pressures. You would

fa; call the in laws for an explsnation,

such a circumstance.

¢ take action  afier  her  parents
approachk you,

‘d: ask bher to lodge = complaint with

the police.
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77.

78.

P-PFC-L-CGJB
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S dle-afsd &9 § US] Hed YA W
AE0 W W o & e o mar &
Aieraftet g1 Sa T S B @
W AW U § B <gHa fimg WeR B
AT o & T aH T st @
Ty W T Fr P P

(a) F& TEW @ W N T I
e |

(b) “IAaH HIFA B WIHR B AN |

“(¢) AMA B PR & g A7 2 R

TITeT BT |

(@) Aterafeel & gaer & B I w
oS 3T € 9mar & |
e Ipa meMR-dfgd e # 3
IR &% o fERor e T TR
et & 3R wus U Faw &
A-FRIeE DT g3 & | 59 A% &
TH-4H P 3R I T & v FeH @
o SRd € | 39 W 9% a§F &7 I
Pamagdar a2 3 | WA
3T FGT T P .
(a) T B & CP A IR AT b B
I |y @ giy g-sifdeiy T
gﬁéﬁ%@aﬁaﬁ AT IS &
|
Rl g 8 3 e @ W ¥ 3w
e & forw 1 & soa=en A |
(c) AFT B Hed T Sl I et 3k &%
D ST $ TR T ITDH] G
s A |
& g a3 & fade 3 aw-vea &
fore &6 & a4 |

(b)

(d)
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IME, ¥ & H SR anlf & foe e
TN B P URAET o gt # o & |
3 - @ Wi a=A S D TE B
= &, v 39 a3 & Fafaa Q
AR & A g P! PwEraar & 9 a8
wwgﬁ%%h@ﬁ?ﬂﬁm|@
3T T oA P

(a) 39 Harraai & $& {6 9 39 AW o
gier e R U folRaa Rreraa
o @R

(b) mﬁaﬁu‘raﬁ%%@@ﬁmﬁ%
S & Sa-Usale & e |

© om Fafet ¥ 8 5 3 fe
THaagal vary o7 aHe |

(@) 3" FaRE & Rend ® s
PR GRASHT B IR @ |

@Wﬂﬁﬁﬂ%ﬁﬁmmw-

UE yenEEE WteR) 89 $ A°, 98

frmrora diax 3T & s 39, agNie 9o 3

AT Tesl & fold v R R € | I9P

HraT-fUar |fsies aarel & SROT AS T

TR E | 0 F 39 T B ?

(a) 3T 3B GIRTE el PN g I

TqEIHROT AN |

FT I BN OB TE AR o B

yRiterfoadl @ 3@d g S8R 8 &

I g a |

(c) 3N 396 HF-Gar & b U M
R & FHER HA |

3T I Bl P GE 9 ) b 9§
gfera & a3 freaa @ |

()

(d)
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Union Public Service Commission

Civil Service Prelims 2011 Paper-Il (CSAT) Answer key

Q.No. SeriesA  Series B SeriesC  Series D
1 a b T N d
2 d ¢ MN\a b
3 c a P\ | _b d
4 d | c N d c
5 d I_ a E b d
6 c \ ) —b b a

A N

7 c c b c
8 A c_ a c d
9_ : b c b

| _10— ° d c c a

L 1T c a d a
12 c b a c
13 d a b a
14 d d b d
15 b c b c
16 d d c d
17 c d d d
18 a c d c
19 b c a c
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20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50

T T T Q

Q Q. Q 0 o T T o o T | o (3]

Q Qo T

www.jkchrome.com

www.jkchrome.com

Q. Qo T

T Qo o

(3] o T T 9o Q T

o Qo

www.jkchrome.com

www.jkchrome.com



51 www.jkchrome.com

51 www.jkchrome.com

51
52
53
54
55
56
57
58
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60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79
80

(o]

Q. T o
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